PRO DU CT DI M ENSI 0 Ns THE DESIGN, DETAILS, AND THIS DOCUPNIL\EGNE 1AR;1I:52THE PROPERTY OF GAMBER-JOHNSON % %I&Jﬂ :R

PART NUMBER: 7170-1158-00 DESCRIPTION: DISPLAY MOUNT, T-BAR 32" w/ 1.5" NPT + UTAs + P4263F WEIGHT (LBS): 47 RATING (LBS): 400
‘ RATING (LBS): 175
SEE DIMENSIONAL DRAWINGS FOR T-BAR with < POLES PER DISPLAY

EACH PART FOR MORE INFORMATION: 1.5" NPT COUPLER
- P4263F (NO SWIVEL)

- 7160-1784-01 R TILT BOLTS, 1/4-20
1 EE — 32.00 SPAN — ﬂj AN

| VARIOUS HEIGHT OPTIONS
| (SOLD SEPERATELY)

SWIVEL POINT

ANGLE SET BOLT, 1/4-20
TIGHTEN AT DESIRED ANGLE

SWIVEL ANGLE MARKERS ! aa_

@@ i : :._EE

30° MAX
0, 5, 10, 15, 20, 25, 30
FIXED OPTIONS

ANGLE MARKERS

-

S DISPLAY
VESA RANGE = 815mm X 525mm
(VARIOUS HARDWARE INCLUDED)

81 = +90°
SWIVEL RANGE

MAX DISPLAY SIZE
VARIES DEPENDING
ON ANGLES

¢
\

\ -

L/\
<

! @~ MAX SWIVEL ANGLE VARIES DEPENDING— =1
X ON DISPLAY SIZE AND TILT ANGLE
—2X POST-INSTALLATION LEVELING SCREWS
TOP
—HOLES AND SLOTS FOR
4X HARDWARE PROVIDED
VARIOUS ACCESSORIES AND CABLES —HOLES AND SLOTS FOR
CENTER MARKER 94—l el 562 VARIOUS ACCESSORIES
A
| ﬂ - |
DE:)CUE; r O oo C C g ISDE:)?O° o Q o :):)C:]?.I
% S ENI D N 4 | ;
11.34 |t @ 6%9 ® - [52] § TIRT
| o / 8 \ o ) MAX VESA L [ | /=g=\) I
DEI)CEEDI“_GDDD:):); m;}(_JCDODLHOODK_J(_JCB
5.07 <573 E
| 4X ASSEMBLY POINTS i \ SECTION A-A 5
B [815] - — 6.56 = LA
- MAX VESA -
- ETVTR _
(3842 ) 2X POST-INSTALLATION SECURING SCREWS

BOTTOM




THE DESIGN, DETAILS, AND THIS DOCUMENT ARE THE PROPERTY OF GAMBER-JOHNSON BPRENIIER
PRODUCT DIMENSIONS 27
PARTNUMBER: 7170-1158-01 DESCRIPTION: DISPLAY MOUNT, T-BAR 32" w/ 1.5" NPT + UTAs + P4263FP WEIGHT (LBS): 47.3 RATING (LBS): 400
o RATING (LBS): 175
SEE DIMENSIONAL DRAWINGS FOR BARwit— | | PER DISPLAY
EACH PART FOR MORE INFORMATION: N 15" NPT COUPLER |
- P4263FP (NO SWIVEL) i
-7160-1784-01 |
- 32.00 SPAN - TILT BOLTS, 1/4-20 \
- SWIVEL POINT ]
! ANGLE SET BOLT, 1/4-20 |
TIGHTEN AT DESIRED ANGLE k) 0.5. 10, 15, 20, 25, 30
FIXED OPTIONS

] =1

SWIVEL ANGLE MARKERS i aa_

+90°
SWIVEL RANGE

MAX SWIVEL ANGLE VARIES DEPENDING
ON DISPLAY SIZE AND TILT ANGLE

==
= o

4X HARDWARE PROVIDED

CENTER MARKER

il

T—l

4X

ASSEMBLY
POINTS

[535]
MAX VESA

A

[705]

MAX VESA

ANGLE MARKERS

\ MAX DISPLAY

Y SIZE VARIES s
NN ’* DEPENDING *‘ /S
Y ONANGLES ¢ /

NP L7
7 SV

— HOLES AND SLOTS FOR
VARIOUS ACCESSORIES AND CABLES

94— |-

5.70

—mB

B
= 6.63 =

—~= { 38.56 ) -

DISPLAY

VESA RANGE = 535mm X 705mm
(VARIOUS HARDWARE INCLUDED)

2X POST-INSTALLATION LEVELING SCREWS—
TOP

HOLES AND SLOTS FOR
VARIOUS ACCESSORIES

2X POST-INSTALLATION SECURING SCREWS
BOTTOM

SECTION B-B




	7170-1158-00
	Drawing View1
	Drawing View2
	Section View A-A
	Drawing View4
	Drawing View5
	Drawing View6

	7170-1158-01
	Drawing View8
	Drawing View10
	Section View B-B
	Drawing View11
	Drawing View12
	Drawing View13


